r

WASBYE

Parts Catalog - Option Detail

nine

Option

Group

Graphic

Film Card

Date

PP2404-06

06.01.2

pp605gn

K38

06-FEB-06

Engines ||GTA38, K38, KTA38GC CM558, QSK38 CM2150 K106, QSK38 CM2150 MCRS, QSK38 CM850 MCRS

6 pp605gn

SMALL | MEDIUM | LARGE

PP2404-06 Oil Control Valve Mounting
1 S 604 Lock Washer 3/8 in.
2 S 605 Lock Washer 5/16 in.



https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('pp605gn','/rtgraphics/english/parts/pp/6/pp605gn_sm.png');
javascript:swap_img('pp605gn','/rtgraphics/english/parts/pp/6/pp605gn_md.png');
javascript:swap_img('pp605gn','/rtgraphics/english/parts/pp/6/pp605gn_lg.png');

3 S 626 Plain Washer 5/16 in.

4 S 164 Hexagon Head Cap Screw 5/16 - 24 X 3 Inch.

5 S 137 Hexagon Head Cap Screw 3/8-16x 2in.

6 3978262 Valve Bracket

7 S108B Hexagon Head Cap Screw 5/16 - 24 X 3 1/4 Inch.
8 3627412 Clip

9 3632879 Mounting Spacer

10 4930290 Hexagon Head Cap Screw



https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

